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1

- WAP TO DRAW A LINE USING DDA ALGORITHM.
¥
#include<stdio.h>
#include<conio.h>
#include<graphics.h>
void main()
int X,v.x1,x2,y L.y2 kdx.dy,sxi,yi:
int gdriver=DETFLT.gmode:;

\ initgraph(&gdriver.&gmode,"C:\itc\\bgi:");
printf{ "enter first point"):
seanf{"%d%d".&x1.&y1);
printf{"enter second point");

scanf("%d%d" &x2.&y2);

putpixel(x.y.7);

dx=x2-x1;

dy=y2-y1;

ifiabs(dx i=abs(dy)
: s=abs(dx):

else

s=abs(dy):

xi=dx/s;

yi=dy/s;

x=xl;

y=vl.

putpixel(x.y.7):

for(k=0:k<s:k++)
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x=x+xi;

Yoy tyis

putpixel(x.y.7);
geteh():

closegraph():
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OUTPUT

ter second pointZid
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¥
7/, WAP TO DRAW A LINE USING MID POINT ALGORITHM OR

BRESENHAM’S ALGORITHM.

#include<stdio.h>
#include<conio. h=
#include<graphics.h>
void main()

[
1

int x.y.x1.y1.x2,v2.p.dx,dy:

int gdriver=DETECT,gmode:
initgraph(&gdriver.&gmode."C:\\tc\\BGI:"): ¥
printf{"\nEnter the x-coordinate of the first point ="):
scanf("%d".&x1):

printf{"nEnter the y-coordinate of the first point ::"):
scanf("%d" &y ):

printf{"\nEnter the x-coordinate of the second Yoint ::");
scanf{"%d",&x2);
L printf{"\nEnter th@y-toordinate of the second point ;")

scanf("%d".&y?2);

dx=x2-x1;
dy=v2-v]:
putpixel(x.v.2);
p={2dv-dx);
while(x<=x2)

if(p<0)

!
I

X=x+1;
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x=xt1;
y=y+l;
pTpr3*
j
putpixel(x.y,7):
i

getch();

closegraph();

dy:

Departemnt-CSE
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OQUTPUT

1ter the x—coordinate of the first point ::108
Enter the y-coordinate of the first point ¥:258
Enter the x-coordinate of the second point ::588

B

Enter the y-coordinate of the second point ::688
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i{ WAP TO DRAW A CIRCLE USING BRESENHAM'’S ALGORITHM.

#include<stdio.h=
#include<conio.h=
#include<graphics.h>
void circlepoints(int.int);
void main()

int X,y.p.r;
int gdriver=DETECT.gmode:
initgraph(&gdriver.&gmode,"C:\itc\ibgi:");
clrser():
printf{"enter the radius");
scanf{"%ed".&r);
x=0y=rip=1-r;
* while(x<y)
{
X1
if(p=0)

p=p+2¥(x-y)+1:
S,
1
clse
p=pt2¥x+];
circlepoints(x,y):
i

getch():

closegraph();

void circlepoints(int x,int )
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putpixel(x+300.y+300.8):
putpixel(x+300.-y+300.8);
putpixel(-x+300,y+300,8);
. putpixel(-x+300,-y+300,8);
putpixel(yv+300 x+300.8):
putpixel(y+300.-x+300.8):
putpixel(-y+300,x+300,8);
putpixel(-y+300,-x+300,8);
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ouTPUT

enter the radius98)




Departemnt-CSE

KCT college of engg. & technology

3. WAPTO DRAW AN ELLIPSE US/NG MID-POINT ELLIPSE
DRAWING ALGORITHM.

#include<stdio.h>

#include<conio.h>
#include<graphics.h>
#include<math.h>

void eMips(int x,int y);

void completellipse(int r.int g.int u,int v)

float s k.e.fx:

double pl.p2:

s=1:k=g:
e=(pow((s+.5).2));
f=(pow((k-1).2));
p2=((u*ey (v D)-(u*v));
ellips(s.k):

while(k>=0)

I
]

ifip2=0)
p2=(p2-+v-(2*v*s));

else

{

P2=(p2+(2*u*(s+1))-(2*¥v*(k-1))+v )

ellips(s.k);
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void main()

int gdriver=DETECT.gmode;
int a.b.x,y:

long wv.pl:

initgraph(&gdriver.&gmode."C:\\tc\bgi::");

printf{ "in enter the length of major axis:");
"scanf("\t%d" &a):
printf{"\n enter the length of minor axis:"):
scanf("\t%d",&b);
x=0:
y=b:
u=pow(h,2):
v=pow(a.2);
pl=(u-{(v*b)+{.25%v)):
ellips(x.y);
while(2*(u*x)<=2*(v*y))
i
j %
if{p1<0)
pl=(pl+(2*u*v)+v);
else
{
pI=(p1+(2%u*x)-(2*v*y)+u):
V-

1
i

ellips(x.y):
i
completellipse(x,.u,v);
.gctuhi )

closegraph():
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void ellips(int x.int y)

:.
putpixel(x+200,y+200,8);
putpixel(-x-200,y+200.8);

putpixel(x+200,-y+200.8);

putpixel(-x+200,-y+200,8):

Departemnt-CSE
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OUTPUT
¥

entar the length of major axis:18@

enter the length of minor axis:SA
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¥

5. WAP TO SHOW LINE CLIPPING.

#include<stdio.h>
#include<conio h>
#include<graphics.h>
#include<dos.h>
void stlcrcpoims{im.im.im,InLinLinr_im[]};
void maimn()
int gdriver=DETECT,gmode: L
int x1,x2.y 1.y2.xmax.ymax,xmin.ymin,a[ 10],b[10],xi1.xi2.yil.yi2.flag=0;
float m;
int i

clrser():

printf{"output");

printf{"\n");

printf("enter the value of x1.y1.x2.y2: >"):
scanf{"%d%d%d%d", &x1.&y1,&x2.&y2):
printf{"enter the value of xmax,vmax.xmin,ymin:");
scanf{"%d%d%d%d". &xmax.&ymax,&xm in?'&) min);
storepoints(x2.y2. vmin,ymax.xmax,xmin.b);
for(i=l:i<=4:i++)

i
1

if{ai]*blij==0)
flag=1;
else

flag=0;
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m=(y2-y [)/(x2-x1);
xil=x1:
vil=yl;
ifta[1]==1)
{
yil=ymax;

X=X T+H(1/m)*(yil-y1)):

ifta[2]=1)
1]
L

yil=ymin;

XiT=xI+H{(1/m)*(yil-y1));

ifta[3]==1)
i
Xil=xmax;
yil=yl+{m*(xil-x1));
H
iffal4]=1)

i
]

Xil=xmin:

vil=yl+m*(xil-x1)):

iftb[11==1)
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yiZ=ymax;

Xi2=x2H( I/m)*(yi2-vy2));

if(b[2]==1)

yiZ=ymin;

Xi2=X2+((1/m)*(yi2-y2));

ifib[3]=1)
H
Xi2=xmax;

yi2=y2+(( 1 /m)*(xi2-x2));

ifbl=1) y
{
Xi2=xmin;

yi2=y2+{m*(xi2-x2)):

clrser();

initgraph(&gdriver.&gm ode,"c://te/bgi:");

rectangle(xmin,ymin.xmax,ymax);
*line(x1,y1.x2.52);

delav(5000):

closegraph();

clrser();

initgraph(&gdriver.&gmode, "c://tc//bai:"):

line(xil.yil,xi2,vi2);

rectangle(xmin.ymin,xmax,ymax):
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ifi flag==0)

printf{"\n no clipping is required");

getch():
closegraph();

void storepoints(int x Lint y 1,int ymax,int xmax.int xmin.int ymin.int c[10])

if{(v1-ymax)=0)
- c[1=1:
else
c[1]=0;
if{(ymin-v1)>0)
cf2]=1;
else
c[2]=0;
iff(x1-xmax)=0)
c[3]=1:
else
¢[3]=0:
. if{(xmin-x1)=0)
c[4]=1:

else
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OUTPUT

enter the value of x1,y1,x2.y2;:__>10

10

100

100

enter the value of xmax.ymax.xmin,yminS0
50

0

0
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g ' WAP TO ROTATE A TRIANGLE ABOUT ORIGIN.

#include<iostream.h=>
#include<conio.h>
#include<graphics.h>
#include<process.h=
#include<math.h>

void main()

i

“clrser();

int graphdriver=DETECT.graphmode;

initgraph(&graphdriver.&graphmode,”...\\bgi™);

int X, y.x1.a[3]3]:
double b[3][31.c[3][3]:
cout<<"\n Enter Ist coordinates of triangle:";

cin=>a[0][0)==a[1][0]:

cout<<"\n Enter 2nd coordinates of triangle:";

cin>>a[0][1]>>a[1][1];

cout<="\n Enter 3rd coordinates of triangle:";

cin>>a[0][2]>>a[1][2];

line(a[0][01.a[17[0].a[01[1 Laf1][1]);
line(a[0][1].a[17[1].2[0][2].a[1][2]):
line(a[0[0.a[1][01.a[0][2].a[1]12]):
getch():

cleardevice():

cout<<"\n Enter angle of rotation:\n";

cin>>x;
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bIO][0]=b[1][1]=cos((x*3.14)/180);
b[0][1]==sin((x*3.14)/180);
b[1][0]=sin((x*3.14)/180):
b2][2]=1:
b[2][0]=b[2][1]=b[0][2]=b[ 1][2]= 0

for(int i=0i<3:i++)

for(int j=0j<3:j++)
{ c[il[j]=0:
for (int k=0; k<3:k++)

cliT+=ali)[k]*bkIf:

x1=(e[i][j]+0.5):
afi][jl=x1:

1
]

cout<<"\n Triangle after rotation is:\n" :

line(a[0][0].a[1][0].a[0][1 J.a[1][11):
line(a[0][1].a[1][1}.a[012).a[ 1 ][2]):
line(a[0][0].a[ 1][0].a[0][2].a[1][2]):

getch():
closegraph();
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oUTPUT

Ist coordinates of triangle:1B8

ol e 2 s
nd sperdinates of triangle:Z6R

By

ird coordinntes of triangle:158

Departemnt-CSE
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Enter angle of rotation:
i

Triawmyle after rotation is:
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"/ PROGRAM T O SCALE THE TRIANGLE

#include<iostream.h>
#include<conio.h>
#include<graphics.h=0
void main()

L

int gd=DETECT,gm:
initgraph(&ed, &gm."");
cleardevice():;

int xLyl.x2,y2.x3.y3.x4 v4:
float S;&.S}'I

cout=<"Enter the first coordinates of triangle\n";
cinz>x1>>yl:

cout<<"Enter the second coordinates of triangle\n";

cout<<"Enter the third coordinates of triangle\n";
¢in=>x3>>y3;

int poly[8]={xLy1.x2,y2.x3,¥3.x1.y1};
cleardevice();

drawpoly(4.poly);

geteh():

cout<<"Enter the scaling factors’n";
Cim==>sx>=sy:

xd=sx*x1-x1;

y4=sy*yl-yl:

X1=sx*x1-x4:
yi=sy*yl-vd:

X2=sx*x2-x4:
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y2=sy*y2-yd;
K3=sx*x3-x4:
y3=sy*y3-y4;
poly[0]=x1:
poly[1]=y1;
poly[2]=x2;
poly[3]=y2;
poly[4]=x3;
poly[3=y3;
poly[6]=x1;
poly[7]=vL:
getch():
cleardevice();

drawpoly(4,poly);
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oUTPUT

tes of triangie

coordinates of triangle
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Enter the scaling factors
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¥. PROGRAM TO TRANSLATE A TRIANGLE
t

#include<iostream. h>
#include<conio.ii=
#include<graphics.h=
#include<process.h>

Zinclude<math.h>

void main()

clrser();
int graphdriver=DETECT,graphmode;

initgraph(&graphdriver.&graphmode."...\\bgi");

int x,y,x1,y1.x2,y2.x3,y3;
cout=<"\n Enter Ist coordinates of triangle:";

cin=>x1>=2vl;

Enter 2nd coordinates of triangle:";
cin>>x2>>y2;

cout<<"\n Enter 3rd coordinates of triangle:";

cin>>x3>>y3;

cleardevice():
line(x1,¥1.x2,¥2);
line(x2.v2.x3,y3):
line(xl,y1,x3,y3):
geteh():

cleardevice():
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cout<<"\n Enter translatio factors :\n"

Cin>>x>>y:

x1-=x:

cleardevice();
line(x1,y1.x2,y2);
line(x2,y2.x3.y3):
line(x1.y 1.x3,¥3);
getch():
closegraphy();

I}
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OUTPUT

Enter Ist coordinates of triangle:188

Enter Znd coordinates of triangle:28d

Eviter 3rd coordinates of trianglr:158
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tnter translatio factors
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Q
g
I

PROGRAM TO ROTATE A PDINT ABOUT A POINT

#include<iostream.h>
#include<conio.h>
#include<graphics.h>
#include<math.h>
#include<dos.h=

void main()

clrser():

int gm,gd=DETECT;

initgraph(&gd,&gm,"");

int h,kxx1,y1,%x2,¥2,x3,y3;

float t:

cout<<" OUTPUT"<<endl;

cout=~<"Enter the coordinates of point"<<endl;
cinz=x3>=>y2;

putpixel(x2.y2.2);

cout<<"Enter the coordinates of point around which rotation is done"<<endl;
cin>>H>>k;

putpixel(h.k,2);

cout<<"Enter the angle for rotation"<<endl:
cin>>1;

cleardevice():

x1=(h*cos(t))-(k*sin(t)):
y1=(h*sin(t))+k*cos(1)):

x3=x1+x2-h;

v3=y1l+y2-k;

cout<<"Point after rotation is:";
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putpixel(x3,y3.2);

geteh():
closegraph();

OUTPUT

2 coordinates of point

e coordinates of point around which rotation is done

angle for rotatiom
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nt after rotation is:
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|©.PROGRAM TO ROTATE A POINT ABOUT ORIGIN

#include<iostream.h=
#include<conio.h>
#include<graphics.h>
#include<math.h>
'—‘incluéeﬂus.h>

vinid main()

1

clrser():

int gm,gd=DETECT;
initgraph(&gd.&gm.""):

int hk,x1,y1,x2,y2,x3,¥3;
float t;

cout=<" OUTPUT"<<endl;
cout<<"Enter the coordinates of point"<<endl:

Cin=>x2>>y2;

putpixel(x2,y2.2);

cout=<"Enter the angle for rotation"<<endl:
cin>>t;

cleardevice():
x1=int(x2*cos(t*3.14/180))-(y2*sin(t*3.14/180));
vI=int(x2*sin(t*3.14/180))+(y2*cos(t*3.14/180));
cout<<"Point after rotation is:";

putpixel(x1.,y1.2):

getch():
closegraph();
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ODUTPUT

Enter the coordinates of point
188

148

Enter the angle for rotation
{15

OUTPUT

Departemnt-CSE
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Point after rotatiom is:
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\l. PROGRAM TO REFLECT A TRIANGLE

#include<iostream.h=
#include<conio.h>
#include<graphics.h>
#include<process.h>
#include<math.h>
void main()

clrser(y;
int graphdriver=DETECT.graphmode:
initgraph(&graphdriver,&graphmode,"...\\bgi"):

int x,v.x1.a[3][3):
double b[3][3].c[3]1[3]:
cout<<"\n Enter Ist coordinates of triangle:",

‘cin=>al0][0]>=a[1][0]:

cout<<"\n Enter 2nd coordinates ol triangle:";

cin==a[0][1]>=a[1][1]:

cout<=<"\n Enter 3rd coordinates of triangle:";
cin>>a[0][2]=>a[1][2];

cout=<"n Enter 1. for reflection in x-axis:\n";
cout<<"\n Enter 2. for reflection in y-axis:\n";
cout<<"n Enter 3. for reflection in both the axis:\n":
cin=>x:

cleardevice();

line(320,0.320,479);

line(0,240,639.240):

"
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line(a[0][0}.a[1][0].a[0]( 1 T.a[1][1]);
line(a[0](1},a[1][1].a[0][2].a[1][2]);
line(a[0][07.2[1][0].a[0][2].a[ 1][2]):
swilch(x)

i
i

case 1 :'b[O][O]‘640-a[UI[Oj:
b[0][1]=640-a[0][1];
b[0][2]=640-a[0][2];
b[1][0]=a[1][0]:
b{11[L]=a[1][1};
bl1][2]=a[1][2];
ling(320,0.320.,479):
line(0,240.639.240);

line(b[0][0].b[1][01,b[OI[11.b[T][1]):
line(b[0][11.b{1][11.b[OI[21.b[11[2]):
line(b[0][0].b[1][*].b[O][2].b[11[2]);

,gctch(}:
break:
case 2:b[1][0]=480-a[1]]0];
b[1][1]=480-a[1][1];
b[1][2]=480-a[1][2]:
b[01[0]=a[0][0]:
b[0][ 1]=a[0][1]:
b[0][2]=a[0][2]:
line(320.0,320.479);
line(0,240,639,240);

line(b[0][01,b[11[C1.[O[11.b[1][1]);
Tine(b[O1[11,b[11[11.b[0J[21b[1]12]):
line(b[0][0].b[ 11[0].b[0T[2].b{ 1][2]);

getch();
break:

Departemnt-CSE
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case 3: b[0][0]=640-a[0][0]:
b[0][1]=640-a[0][1]:
b[0][2]=640-a[0][2]:
b[1][0]=a[1][0];
bl1[1]=a[1][1]:
bl11[2]=a[1][2}:
line(320,0,320.479);
line(0,240,639.240):
line(b[0][01.b[11[0].b[0][ 1 1.b[1T[1):
line(b[0][11.b[111],6[0][21,b[11[2]);
line(b[0][01.b[17{01,b[01[21b[1][2]);
b[1][0}=480-a[1][0]:
bII1 [=480-a[1][1]:
b[1][2]=480-a[1][2]:
b[0][0]=a[01[01:
b[0](1]=af0][1]:
b[0][2]=a[0][2]:
line(320,0,320,479):
line(0,240,639.240):
line(b[0][0],b[1101.b[O](1}.b[1][1]);
line(b[0][11].b[1][11.b[0][2].b[1][21);
_line(b[0][0],b[1][0].b[0][2].b[1][2]):
getch();

break;

getch():

closegraph():
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OUTPUT

Enter Ist coordinates of triangle:188

Enter Znd coordinates of triangle:Z8@
Enter 3rd coordinates of triangle:158
54

Enter 1. for reflection in w-axis:

Enter 2. for reflection in y-axis:

in both the axis:

Enter 3. for reflection

Departemnt-CSE




KCT college of engg. & technology Departemnt-CSE




KCT college of engg. & technology Departemnt-CSE

|- PROGRAM TO FILL A POLYGON
finclude<conio.h>
#include<iostream.h>
#include<graphics.h>
#include<math.h>
#include<dos.h>
#include<process.h>
void main()

int graphdriver=DETECT, graphmode:

initgraph(&graphdriver,&graphmode,"...\\bgi");

int p=1,x;

int a[12]={100,100.150,150,200,100,200,200,100,200,100,100};
drawpoly(6.a);

for(int i=100;i<200:1++)
{ p=L
for(int§=1003j<=200:j++)
x=getpixel(j.i):
for(int d=0;d<11;d++)

4
1

if(j==ald]|&&i==ald+1] )
break:
else
ifx=0&&d==10)
pHt
¢ if(pY%2==0)

putpixel(j.i,4):
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closegraph();

i
i

OUTPUT




